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BEfE B £ 106407 8258 MEFHY b —ERER
[[=tia K % T B ) =2 GR HDCP NET e
B | FE AR 42 42 1.2 34.8
#E TE XKE 46 46 10.8 35.2
3 |fhE #0EA 46 46 10.8 35.2
4 BE = 44 44 8.4 35.6
5 |l BFE 43 43 1.2 35.8
6 |dt+ B— 55 55 19.2 35.8
7 |FEA B 48 48 12.0 36.0
8 |ftk =F 47 47 10.8 36.2
9 | K&%Fx E= 47 47 10.8 36.2
10 |21 #HI= 52 52 15.6 36. 4
11 |#EB EA 52 52 15.6 36. 4
12 )l EHH 46 46 9.6 36. 4
13 |lUR 4E£H 52 52 15.6 36. 4
14 5% T8 46 46 9.6 36. 4
15 |HME B= 39 39 2.4 36.6
16 |BF #E 51 51 14. 4 36.6
17 | KB TER 51 51 14. 4 36.6
18 O WA 44 44 1.2 36.8
19 ||’ =% 50 50 13.2 36.8
20 |EHE Bh 55 55 18.0 37.0
21 R S8h 43 43 6.0 37.0
22 |frih # 48 48 10.8 37.2
23 |tF Ef 60 60 22.8 37.2
24 = IE— 47 47 9.6 37.4
25 |#HE FEiE 53 53 15.6 37.4
26 EX BE 53 53 15.6 37.4
27 &\ E— 52 52 14. 4 37.6
28 |BF HECZ 46 46 8.4 37.6
29 |luAx  FIBA 46 46 8.4 37.6
30 |l A8A 51 51 13.2 37.8
31 |JIfE #/F 51 51 13.2 37.8
32 |ERBH =— 55 55 16.8 38.2
33 AR IEF 55 55 16.8 38.2
4 |BEX BX 55 55 16.8 38.2
3B | KK E— 42 42 3.6 38.4
36 |FH BESL 42 42 3.6 38.4
37 |/ =5k 60 60 21.6 38.4
38 |hft IE— 52 52 13.2 38.8
39 |TE EX 46 46 1.2 38.8
40 |EH FHHE 46 46 1.2 38.8
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ERLVEARY 25
Bfi H  $%1064£07 256 Mesh> by — (B
I fsz K £ Fil ] £ $h GR | HDCP | NET 5%
41 |#HE HX 45 45 6.0 39.0
42 [dtAt B 63 63 | 24.0 | 39.0
43 |8l IE# 45 45 6.0 39.0
4 BE = o1 51 | 12.0 | 39.0
45 FL A& 26 56 | 16.8 | 39.2
46 |Trhl FME 48 48 8.4 | 39.6
47 dtd E17 66 66 | 26.4 | 39.6
48 |BE# 5B 47 47 1.2 39.8
49 £ EX 93 53 | 13.2 | 39.8
50 |fhEE BE 92 52 | 12.0 | 40.0
51 & 1§87 o8 58 | 18.0 | 40.0
52 ‘MR & 46 46 6.0 | 40.0
53 |XXH RB5H o1 57 | 16.8 | 40.2
54 T #&xX 45 45 4.8 | 40.2
5 |HE & o1 51 | 10.8 | 40.2
5% |BA o 45 45 4.8 | 40.2
57 Bkt @& 96 56 | 15.6 | 40.4
58 &% —HB 95 55 | 14.4 | 40.6
5 Bl EA 93 53 | 12.0 | 41.0
60 &H =% 50 50 8.4 | 41.6
61 |l & 62 62 | 20.4 | 41.6
62 & FE 92 52 9.6 | 42.4
63 & EE 95 55 | 10.8 | 44.2
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